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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘Y’ can
be represented by 21, 87, etc., and ‘L’ can be represented by 32, 78, etc.
Similarly, you have to identify the set for the word “TOWEL”.

T A hael TH HEAT-HHAp GRT ST TR-T &, ofer 6 faweur & @
el uas # g R fweut d Bu v gwarwag Hart & g auit
gRT gefw arw ¥ ofar o Bu arw o smegpt # ¥ Imegp b waes iR
ufth i FEar 0 & 4 § IR WFEU H 5 A 91 3 NPl F TH HaR
A ugdt sEh dfn AR @ A TaEH GEar grr gt S @war ¥
3areAol & faw <y’ 21, 87, M ERT R S WehaT § dYT L’ W32,
78, 3nfe Ry gAfar ST GHar ¥ T AWE A UM un A RU A
“TOWEL” & foiw @os = ugamEar &l

Matrix-| Matrix-ll

Il Il
0[1]2]3]4 5(6[7][8]9
O|C[E|G|I[K 5|K|M[F|H|2Z
1{M|jOojQ|S|U 6|/1|B|O|J|K
2| W|Y|A|D|B 7|G|Q|A|L]|V
3({H|J|L|N|P S8(E[H[Y[N]|T
4 |R|T|(V|X|Z 9|C|U[W|P|R

Options:
1) 41, 67, 20, 03, 78

2) 89, 67,98, 01, 33
3) 89, 11, 20, 85, 32

4) 41, 11,97, 03, 32
Correct Answer: 89, 11, 20, 85, 32
Candidate Answer: 41, 11, 97, 03, 32

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R gfad F | 3w =R I & ghaw
orw & uy ampfa Bfea &

Q_
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Options:

R

2)

N
N

3)

4)

Correct Answer:

¢!

Candidate Answer:

R

QID:5-
Which answer figure will complete the pattern in the
question figure?

Hig O 3R FPA uH Helad & ufawT & @
HLIM?

(3
&,

a2
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Options:

&c

N
N

)
-

1

H
~

7]

Correct Ans

H

er:

?

Candidate Answer:

?

QID: 6-
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE mF Z9UT Y AB X1 W T@T AW, ar & o
IR APAAT A T Pia @ Fpfa vy 3ea H
T ufafesa gefr?

X\
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Options:

1)

N
-

w
N

H
=

A K] K] X

Correct Answer:

4

Candidate Answer:

4

QID:7-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

Y & oy agpfaa # REW IgER e
AZHT B IUT Wheldd & a1 g hd 3R HTHA
s e eam?

)14 |8
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Options:

[=Y
~

N
-

w
N

»
-

Correct Answer:

Candidate Answer:

QID: 8 - If '-' means '+', '+' means ', 'x' means '+' and '+' means 'X', then
126 x3 +10-6=7?
gfe = o1 erf '+, B rf ) x by 3f e qur ' B e x /Y,

126 x3 +10-6=7?
Options:

1) 420

2) 356

3) 326

4) 426

Correct Answer: 426
Candidate Answer: 426

QID:9-If15 + 29 + 15 = 291515 and 16 + 28 + 31 = 281631, then 19 +35+9="7?

I 15 + 29 + 15 = 291515 U116 + 28 + 31 = 2816318, W19 +35+9 = ?
Options:

1) 35911

2) 35199

3) 35991

4) 31995

Correct Answer: 35199

Candidate Answer: 35199

Download More Paper$)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Wept
2. Wings
3. Winger
4. Waller
5. Wesley

T 2ee &1 eI & 319 I1d HH F IR |

1. Wept
2. Wings
3. Winger
4. Waller
5. Wesley

Options:
1) 45123

2) 45231
3) 41532

4) 41523
Correct Answer: 41532
Candidate Answer: 41532

QID : 11 - In the following question,select the missing number from the given alternatives.
46, 56, ?,79, 92, 106
fafafad uy # fou e fawedl & @ g sie F1d Hiforg)

46, 56, ?, 79, 92, 106
Options:

1) 68

2) 67

3)69

4) 66

Correct Answer: 67
Candidate Answer: 67

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
SAP, UCN, WEL, YGJ, ?
T Y fear man B, o 9 v e g 81 o e fiwed! § 9 a8 9Et fAwed g, o S H &Y @1 AR

SAP, UCN, WEL, YGJ, ?
Options:

1) ATH

2) BJH

3) AKK

4) BIK

Correct Answer: AIH
Candidate Answer: AIH

QID : 13 - In the following question, select the odd word from the given alternatives.

frofaRea oy o f3u e fawedt & ¥ favy wss &1 gl
Options:

1) Orange

R

2) Mango

SIH

3) Potato

A

4) Grapes

A

Correct Answer: Potato

A

Candidate Answer: Potato

A
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QID : 14 - In the following question, select the odd number pair from the given alternatives.

Frafofeaa wy & fou T fawen & I fawd e g &1 gfu|
Options:
1)36-80
2)12-30
3) 24 - 60

4)28-70
Correct Answer: 36 — 80
Candidate Answer: 36 — 80

QID : 15 - In the following question, select the odd letter pair from the given alternatives.

fafaRad uy # fou 71U fawedl & 9 faww sier gm &1 gfu|
Options:
1) LMNO — LMON

2) PQRS — QPSR
3) EFGH - FEHG

4) TUVW - UTWV

Correct Answer: LMNO — LMON

Candidate Answer: LMNO — LMON

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Red, Car, Bike

I8 3R g o A1 U e o & o & Heiy o1 e AU wrar 71
I, PR, TMEH

Options:
1)

5]c8®118

Correct Answer:

e

Candidate Answer:
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QID : 17 - In the following question, select the related word from the given alternatives.
Pen : Write : : Knife : ?

frafafed uy ¥ 3T U fawed! & ¥ 46t wreg &t gu|
o : foraar: r A 2

Options:

1) Cut

DIl

2) Sword

GNEIRS

3) Sharp

4) Fruit

B

Correct Answer: Cut
DIl

Candidate Answer: Cut
PlcAl

QID : 18 - In the following question, select the related number from the given alternatives.
23:25::36:7?

frafoRad uy ¥ fou e fawedl & @ Haifta e &1 gl

23:25::36:?

Options:

1) 49

2)81

3) 64

4) 100
Correct Answer: 81
Candidate Answer: 100

QID : 19 - In the following question, select the related letters from the given alternatives.
MAX :NYA::BOT:?

frafafed uy # 3T e fowedl # § defia oferf &1 gfu)

MAX : NYA::BOT:?

Options:

1) ANV

2) CMW

3) CNW

4) AMW
Correct Answer: CMW
Candidate Answer: CMW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.
DISAMBIGUATION
frafafed el & 9 95 Weg gT S fAT U X1sg & 31&RT BT TN $Rb 6! 91 off Javdll|

DISAMBIGUATION
Options:

1) RATION

2) BAIN

3) GAIN

4) SAND
Correct Answer: RATION
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Candidate Answer: RATION

QID: 21 - B and Q are brother. Q is son of L. L is brother of J. J is son of N. How is B related to N?

BAMQUERIQ LBITARIL, IHTHE &1, NBT G B, N fbg UobR et 82

Options:
1) Son

@

2) Brother
3) Grandson
o

4) Father
Correct Answer: Grandson

Candidate Answer: Grandson

QID : 22 - There are 39 pens in a row. Red pen is 9th from left end and green pen is 21st from left end. How many pens are there between red and green pen?

T U H 39 et &1 dTel o a1l DR ¥ 9 df & 9UT 81 had a1l Bk F 21 df g1 et a1 831 had & " b dod &2
Options:
1) 11

2) 12
3) 10

4) 13
Correct Answer: 11
Candidate Answer: 11

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All pen are chairs.
II. All chairs are tables.

Conclusions:
1. Some chairs are pen.
II. Some chairs are tables.

Tt T T 7y H T© HUF 3R I a1 I B R YR B Fspd AU 7T €, gTeiifes 378 G I1d a2t | e 81 et o | 9 Fspd o iR fbr Mefia
X F U T BIF § ey, 3y U et & YR W gfHETd 7

1wl e e ¥

I 94l hH |

11. Tt HRT ow 81

frepe: . %

1. $ HRial Had gl

II. $8 SR BT §
Options:

1) Only conclusion (I) follows.
Fael Fsp (1) W 2

2) Only conclusion (II) follows.
s (1) TEt 71
3) Both conclusion follow.
gl & sy ugt 7
4) Neither conclusion (I) nor conclusion (II) follows.
T e (1) 71 €1 Frepd (1) TE R
Correct Answer: Both conclusion follow.
T & ey wEt B
Candidate Answer: Only conclusion (I) follows.

Fad Frset (1) TEt 81

QID : 24 - In a certain code language, "MULTI" is written as "NTKSH". How is "METER" written in that code language?

T Ay S8 U9 &, "MULTI" &1 "NTKSH" a1 91T § | 39 %1S HIW & "METER" & {9 YR ferar smamm?
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Options:
1) NDSDQ
2) NDSDR
3) NESEQ
4) NDSER

Correct Answer: NDSDQ
Candidate Answer: NDSDQ

QID : 25 - In a certain code language, "BOOK" is written as "86" and "READ" is written as "56". How is "GOOD" written in that code language?

T fAfy s W1 H, "BOOK” %! "86" IUT "READ" ! "56" forRal Wl §1 39 IS HTW & "GOOD" & {3 TR ferar simaem?
Options:

1) 43

2)82

3)88

4) 68

Correct Answer: 82

Candidate Answer: 82

QID : 26 - What is the unit digit of 178 x 593 + 157?

178 x 593 + 157 P IBTE 3fch T &2
Options:

1)1

2)2

3)3

4)7

Correct Answer: 1

Candidate Answer: 1

QID : 27 - What is the value of (3.7)2 - (1.7)%?

(3.7)% = (1.7)% &1 HF &1 &2
Options:

1)5.4

2)10.8

3)7.2

4)9.6
Correct Answer: 10.8
Candidate Answer: 10.8

QID : 28 - What is the value of 31 + 31 + 32 + 327

314314324 32T AR A R?
Options:

1) 112/9

2) 16/3

3) 4/3

4) 109/9
Correct Answer: 112/9
Candidate Answer: 112/9

QID : 29 - A number when divided by 16 leaves remainder 8. What is the remainder when the same number is divided by 8?

TH T &1 9 16 ¥ AU e oiran 8, O A9t 8 oaa1 31 5 IT e &1 8 ¥ fauifra fvar o, & Qwwe am g
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Options:
1)0

2)2
3)6

4)4
Correct Answer: 0
Candidate Answer: 0

QID : 30 - Which of the given value is completely divisible by 12?

2 M A & ¥ &9 91 12 3 gofaa: favifea 82
Options:
1) 3470

2) 7236
3) 1426

4) 2427
Correct Answer: 7236
Candidate Answer: 7236

QID : 31 - Which of the following is not a perfect square?

frofifed & 3 o e gof arf 7t 22
Options:
1) 1024

2) 1089
3) 676

4) 749
Correct Answer: 749
Candidate Answer: 749

QID:32-X, Y and Z can complete a work in 15, 45 and 90 days respectively. In how many days X, Y and Z together can complete the same work?

X, Y qUT Z ot T & SR 15, 45 TUT 90 3T W T R Whd 1 X, Y 7T Z FAaesR 39 B ) fobae fot o WR1 R Tebdl €2
Options:

1) 12

2) 11

3)9

4) 10
Correct Answer: 10
Candidate Answer: 10

QID: 33 - U, Vand W together can complete a work in 15 days. U alone can complete the work in 60 days. In how many days V and W together can complete the
same work?

U, v auT w e et o ot 15 et B 1 R Wb B 1 U 319t 60 3T B 1 W1 R ehal 81 V qUT W iR 39 B I fhda ot Hf @11 R Thd B2
Options:

1) 10

2)20

3) 14

4) 12

Correct Answer: 20

Candidate Answer: 20

QID : 34 - If the diagonal of a square is 10 cm, then what is the area (in cmz) of the square?

I T v o1 fawol 10 3.1 B, @ ovf &1 dawa (@2 7) w2
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Options:
1) 50v2
2) 50

3) 25V2

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 35 - Marked price of an article is 30% more than its cost price. If 30% discount is given, then what will be the loss percentage?

TS o] 1 3ifShd Hed IS %9 Ged ¥ 30% SIS 31 TS 30% Bt ge <t ot 7, a g1~ wforwra aam gvme
Options:
1)0

2)9
3)6

4)8
Correct Answer: 9
Candidate Answer: 9

QID : 36 - After giving a discount of 40% on an article, shopkeeper gains 25%. Marked price is how much percent more than the cost price?

TP T W 40% B! Fe 1 P 18 Y, THHFER BT 25% HT ATH 81 8 3ifdhd Ieu g Heg I fhran ufawra it &2
Options:

1) 65

2) 87.5

3) 112.5

4)108.33

Correct Answer: 108.33
Candidate Answer: 108.33

QID : 37 - 200 is divided into two parts in such a way that the sixth part of first and the half part of second are in the ratio 1 : 1 what will be the value of second
part?

200 Y & U & 59 YR faferd faman mar § 1 ugel o1 o1 R aur R o7 omem @R 1 : 1 % SuTd § 81 gER T T H1F o1 G
Options:
1) 150

2) 125
3)75

4) 50
Correct Answer: 50
Candidate Answer: 50

QID : 38 - Two rice of prices 60 Rs/kg and 80 Rs/kg are mixed in the ratio of 3 : 2. What will be the price (in Rs/kg) of mixture?

60 /I qUT 80 B/fHI BIAT AT TG B 3 : 2 F T | fHrea S g1 sy B Hiua (37w o) @ gnfie
Options:

1) 68

2)72

3)65

4)74
Correct Answer: 68
Candidate Answer: 68

QID : 39 - Average of 7 consecutive numbers is A. If 2 numbers which are before these 7 numbers are also taken, then what will be the new average?

7 HHRTA GHTST &7 Shd A §1 R 2 Turd S 579 7 Swrshl & ugd € +ff off s, & T sirad @1 grme
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Options:
DAL
2)A-0.5
3)A+15
4)A
Correct Answer: A-1
Candidate Answer: A -1

QID : 40 - An article is purchased for Rs 4200 and sold for Rs 4830. What is the profit percetnage?

TH T B T 4200 B TS ST § T T 4830 & 1 ST g1 A1 Wfa=ra g2
Options:

1) 12

2) 10

3)15

4) 18
Correct Answer: 15
Candidate Answer: 15

QID : 41 - An article is sold for Rs 4800 at a loss of 20%. What is the cost price (in Rs) of the article?

TH T BT 20% B 51 W T 4800 F 371 ST & | T BT 67 Ted (3 H) F1 72
Options:

1) 5500

2) 6000

3) 7200

4) 5800
Correct Answer: 6000
Candidate Answer: 6000

QID : 42 - What is the value of [(25% of 240) + (6% of 1200)]/(4% of 400)?

[(240 DT 25%) + (1200 T 6%)]/(400 BT 4%) DT HIT HIT R
Options:

1) 6.25

2)7.75

3)8.25

4) 8.75
Correct Answer: 8.25
Candidate Answer: 8.25

QID : 43 - What is the value of [(11% of 1200) + (10% of 1400)]/(2% of 250)?

[(1200 T 11%) + (1400 DT 10%)]1/(250 DT 2%) DT A T 2
Options:

1) 48.2

2)54.4

3)72.8

4) 38.4
Correct Answer: 54.4
Candidate Answer: 54.4

QID : 44 - A train is moving at a speed of 56 km/hr covers a certain distance in 8 hours. If the same distance is to be covered in 7 hours, then what will be the
speed (in km/hr) of the train?

T YAl 56 f5.m./Her B i F gad gu v P g o 8 Ul B qu el 81 3 9@} gt 7 W H qm e |, Y YAt Y wifa (1w eien H) i
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Options:
Dot
2) 54
3) 48
4) 63
Correct Answer: 64
Candidate Answer: 64

QID : 45 - Speed of a boat is 6 km/hr in still water and the speed of the stream is 1 km/hr. If the boat takes 12 hours to go to a place and come back, then what is
the distance (in km) of the place?

id T | 19 B T 6 .31 /Her § aut uRT @t TRy 1 .1 /eer 31 afe g 12 wR  fondt ot o W) A o Wit ®, & i (A, ) foea 22
Options:
1)21

2) 28
3)35

4) 70
Correct Answer: 35
Candidate Answer: 70

QID : 46 - Rs 3500 are invested for 3 years in a scheme of simple interest at a rate of 16% per annum. What will be the amount (in Rs) obtained after 3 years?

3500 % ! 3 Y & forT TRUT ST dTelt Ueb AT & 16% Ul 99 Bt ool <= § 3w fovan man 81 3 o ae e firsre (3 #) ot ghm?
Options:
1) 5050
2) 7200
3) 5180
4) 4500

Correct Answer: 5180
Candidate Answer: 5180

QID: 47-
The bar chart given below shows the number of flights
from by Air India in 6 consecutive years.

= o aw gus Ry # 6 ¥ & forr mR AT e
IS IS ITET AT TEAT Hr AT TAT §I

21000 -
18000 -
15000 +
12000 -
9000 H
6000 -
3000 A
0 -

18400

I3 TE

Number of flights

Y1 Y2 ¥3 X4 Y5 X6
Year /9%

What is average number of flights per year?

Uiy a8 IS ) 3Ngd GBI A 22
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Options:
1) 14200
2) 13900
3) 13500
4) 14400

Correct Answer: 13900
Candidate Answer: 13900

QID: 48 -
The bar chart given below shows the number of flights
from by Air India in 6 consecutive years.

d=r e am gus Ry # 6 ¥ & forr mR AT e
T[S TS ISET AT HEAT B SATAT TT

21000 -
18000 -

18400
15500 16200

Number of flights

Yl Y2 N3 X4 Y5 X6
Year / a¥

As compared to previous year, which year shows the maximum increase in number of flights?

T4 98 @1 ger H, 7bw 98 § IS @l T § e 9 g8 82
Options:
1) Y4

2)Y2

3) Y6

4) None of the§e

T 9§ B T

Correct Answer: Y2
Candidate Answer: Y2
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QID: 49 -
The bar chart given below shows the number of flights
from by Air India in 6 consecutive years.

d=r e o gus R # 6 ¥ & forr mR A e
T[S TS ST AT HEAT P SATAT TT

21000 -

18400

Number of flights

Y1 Y2 Y3 Y4 Y5 Y6

Year / a¥

Number flights in Y6 are how much percent more than number of flights in Y1?

Y6 B SSMI B GG Y1 BT ISH! B! G A b ufamiad e 22
Options:

1) 124.4

2) 126.8

3) 118.2

4) 114.3
Correct Answer: 124.4
Candidate Answer: 124.4
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QID : 50 -
The bar chart given below shows the number of flights
from by Air India in 6 consecutive years.

& few ow gvg By A 6 a¥ & for maw A Em
35S IS IEET HT TEAT P g AT T

21000 -

18400

Number of flights

Yl Y2 3 X4 Y5 X6
Year / a¥

Number of flights of Y2 are what percent of number of flights of Y5?

Y2 F ISHI B T, Y5 ISHI 1 AT BT fpa ufawra 82
Options:
1) 69.26
2) 71.66
3)67.18

4) 73.45
Correct Answer: 73.45
Candidate Answer: 73.45

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

To bring these to you (1)/ Wherever you are (2)/ however you have time. (3)/ No Error (4)/
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

We will continue to (1)/ strive in dark (2)/ but we will no driven out. (3)/ No Error (4)/

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3
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Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

She cannot deprive him his rights.

Options:
1) for

2) form
3) of

4) with
Correct Answer: of
Candidate Answer: of

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

My uncle, Mr. Lalit Singh comes home at the of the month.

Options:

1) end

2) gone

3) bring

4) returning

Correct Answer: end

Candidate Answer: end

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Awe

Options:
1) Expectation

2) Admiration
3) Familiarity

4) Calmness
Correct Answer: Admiration
Candidate Answer: Admiration

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Rejuvenate

Options:
1) Update

2) Destroy
3) Rain

4) Exhaust
Correct Answer: Update
Candidate Answer: Update

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Disperse

Options:
1) Eject

2) Arrange
3) Gather

4) Collect
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Correct Answer: Eject
Candidate Answer: Eject

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Stationary

Options:
1) Immobile

2) permanent
3) Stable

4) Unsteady
Correct Answer: Unsteady
Candidate Answer: Unsteady

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Progressive

Options:

1) Advanced

2) Continuous

3) Conservative

4) Dynamic

Correct Answer: Conservative
Candidate Answer: Conservative

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Augment

Options:

1) Develop
2) Enhance
3) Degrade
4) Increase

Correct Answer: Degrade
Candidate Answer: Degrade

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Part and parcel

Options:
1) Arguments for and against

2) Send the message
3) An essential part

4) Distribute and give away
Correct Answer: An essential part
Candidate Answer: Arguments for and against

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A rainy day

Options:
1) Time of amusement

2) Time of difficulty
3) Day for adventure

4) Heavy downpour of water
Correct Answer: Time of difficulty
Candidate Answer: Heavy downpour of water
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QID : 63 - Improve the bracketed part of the sentence.

(Being a cold day), we cancelled our picnic.

Options:
1) It being a cold day

2) It having been a cold day
3) It been a cold day

4) Not improvement
Correct Answer: It being a cold day
Candidate Answer: It being a cold day

QID : 64 - Improve the bracketed part of the sentence.

My daughter has a habit of (eating home-cooked food).

Options:
1) picking home-cooked food

2) bulging home-cooked food
3) hoggering home-cooked food

4) Not improvement
Correct Answer: Not improvement
Candidate Answer: [ NOT ANSWERED ]

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Government by person of highest social order.

Options:
1) Autocracy

2) Aristocracy
3) Plutocracy

4) Democracy
Correct Answer: Aristocracy
Candidate Answer: Aristocracy

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Government by a king/queen.

Options:
1) Dictatorship

2) Monarchy
3) Oligarchy

4) Theocracy
Correct Answer: Monarchy
Candidate Answer: Monarchy

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Laughtro

2) Laughtur

3) Laughter

4) Laufter
Correct Answer: Laughter
Candidate Answer: Laughter
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QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Maximom

2) Maximum
3) Masimum

4) Macximum
Correct Answer: Maximum
Candidate Answer: Maximum

QID : 69 - Rearrange the parts of the sentence in correct order.

The opinion

P: opinion of many
Q: great must be the
R: that makes a book

Options:

1) RQP

2) QPR

3) PQR

4) QRP

Correct Answer: RQP
Candidate Answer: RQP

QID : 70 - Rearrange the parts of the sentence in correct order.

We are

P: as we are alive
Q: always under the
R: stress as long

Options:

1) RQP

2) QRP

3) PRQ

4) RPQ

Correct Answer: QRP
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

We have to face degree

Options:
1) heavy

2) many
3) low

4) high
Correct Answer: high
Candidate Answer: low
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QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes

short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

during the winter months.

Options:
1) peak

2) speak
3) sneak

4) tweak
Correct Answer: peak
Candidate Answer: peak

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

In the winter ;

Options:
1) climate

2) season
3) reason

4) plain
Correct Answer: season
Candidate Answer: season

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes

short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

clear however sometimes it remains all through

Options:
1) clear

2) blue
3) Unclear

4) same
Correct Answer: Unclear
Candidate Answer: Unclear

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

We have to face degree cold and high speed cold winds during the winter months. In the winter , hight becomes long and day becomes
short. Sky often looks clear however sometimes it remains all through the day because of the thick fog during peak cold months. Sometimes it rains also
during the winter season and makes condition

season and makes condition
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Options:
1) worse

2) better
3) abnormal

4) normal
Correct Answer: worse
Candidate Answer: worse

QID : 76 - How many 'factors of production' are there?

IATEH & PRP' fHa 8 82
Options:

1) One

Th

2) Four

IR

3) Six

CH

4) Eight

TS

Correct Answer: Four
IR

Candidate Answer: Six
B

QID : 77 - Agriculture comes under which sector of economic activity?

FY T onfifer nfafafe & & F siarfa et 82
Options:
1) Secondary sector

2) Primary sector
Ui &
3) Tertiary sector

4) Quaternary sector

Correct Answer: Primary sector

TTufis &

Candidate Answer: Primary sector

TS &%

QID:78-Indiais a .
YR Th H
Options:

1) Autocracy
ThdA

2) Monarchy

RNEGE)

3) Democracy

[IEaE]

4) Aristocracy

Corrgct Answer: Democracy

Candidate Answer: Democracy

QID : 79 - Who is the Chairman of Rajya Sabha?

1T GHT BT GHTURY D BT 82
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Options:
1) Speaker
e

2) Vice President of India

URT & 30-

3) Prime Minister of India

URT & THA

4) None of these

Correct Answer: Vice President of India
HRA & Ju-gufa

Candidate Answer: Vice President of India
HRA & IU-FU

QID : 80 - Which among the following is known as the earliest period in history?

Sfae & SRMY® Fra & Fafafad & I o 381 S 82
Options:
1) Palaeolithic
CaNE
2) Mesolithic
TUTNToT Il
3) Microlith

SERILIL

4) Neolithic

BELINWI

Correct Answer: Palaeolithic
RTATHO hlel

Candidate Answer: Palaeolithic

ENEINIMECIN]
QID : 81 - During 1850's, Britain came to be known as .

1850 % <R, fe FHEAM T
Options:
1) mini continent

2) workshop of the world
ST BT HREMT

3) labour king

TSIgR! I Il

4) factory owner

Hadt B

Correct Answer: workshop of the world
a1 &1 HRET

Candidate Answer: workshop of the world
ST BT HREMT

QID : 82 - The sun, the moon and all those objects shining in the night sky are called as .

T, <5 U1 3 Tt aRgy o X9 & T S | THG |, el 8
Options:

1) Star

GING

2) Satellite

[REPE

3) Celestial Bodies

ety fig

4) Milky Way

STehT T

Correct Answer: Celestial Bodies

Candidate Answer: Celestial Bodies

ey fifs

QID : 83 - Which imaginary line running on the globe divides it into two equal parts?
B Ul Blede a1 AT BT &1 aRIER YR H died 82
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Options:
1) Tropic of Cancer

2) Tropic of Capricorn
THR 3@
3) Equator

ar

4) None of these
SR # ¥ $IS Tl

Correct Answer: Equator
fagara Y

Candidate Answer: Equator

fagaa
QID : 84 - Which type of plants have their branches in the upper part of the stem, much above the ground?

g yeR & gl & Tramd yftr I 3 A R a1 F FHU Ui I Fpadt 82

Options:
1) Shrubs

2) Trees

q&

3) Herbs

AMH

4) None of the above
I & Y IS 6T
Correct Answer: Trees
q&

Candidate Answer: Herbs
MH

QID : 85 - Plants with green and tender stems are called as

NWHAA A IANY ____ Fgard 8
Options:

1) Herbs

RED

2) Shrubs

3) Trees

q&

4) None of the above
IR & § IS 76T
Correct Answer: Herbs
Rca)

Candidate Answer: Shrubs

QID : 86 - The covering of lungs is called as

PHE P R B ETESIGIE
Options:
1) Pericardium

2) Pleural membrane

DY fRreeht

3) Perichondrium
3

4) Peritoneum

Correct Answer: Pleural membrane

BUpY et
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Unit of acceleration is .

TR BT HES Bl
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Opti :
" per
. /ApUs
2) s2/m
JHus2/H.
3) m/s?
. /Apue?
4) m?/s?
.2 QHrs2
Correct Answer: m/s?
. /Apus?
Candidate Answer: m/s?

./ APus?

QID : 88 - The distance travelled by a freely falling body is proportional to which among the following?

T Waa ®U I FRd gU fve gr1 a9 o1 72 gt Mefied § @ fege gauias g 82
Options:
1) The mass of the body
s & gEmH
2) The square of the acceleration due to gravity
T & HRUN @RUT BT aif
3) The square of the time of fall
& II BT
4) The time of fall
i &1 9

Correct Answer: The square of the time of fall

R & g9 &1 arf

Candidate Answer: The square of the acceleration due to gravity
T & HRUT @R0T B I

QID : 89 - Which of the following is NOT an input device?

I.Keyboard
IL.Mouse
III.Monitor

e & § 1 91 te $Ye fSasy 76t 82

I BiES

II. 7139

IIL. AR
Options:

1) Both I and II
19T 11 g

2) Only III

Had 111

3) Both II and III
11 T III gt

4) Only I

Had II

Correct Answer: Only III
Had 111

Candidate Answer: Only III
&ad 111

QID : 90 - Molecules in Solids .

3 gt & 3 |

Options:

1) are free to move about

MY % fore T B &

2) cannot move

T T B Fwd

3) interchange positions frequently
TR R STE BI el el Hd o
4) are spherical in shape

AHHR H

Correct Answer: cannot move
T TS R Thd
Candidate Answer: cannot move

T 78T B Hebd
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QID : 91 - Which of the following is not an element?

fFraffad & @ B a1 dd e 82
Options:

1) Sodium

2) Tin

3) Water

qr

4) Carbon
Hra
Correct Answer: Water

Candidate Answer: Water

QID : 92 - The upper limit of the layer where all the space between particles of soil and gaps between rocks are filled with water is called what?

e & U & ad F IR & IR Rad RF R T & 6T & RE o od J W e § 39D S I a1 FHgand 82
Options:

1) Water cycle

SieT dsh

2) Water table

HIoTe W

3) Ground water

4) Aquifer
SIAHR

Correct Answer: Water table
HieeTe WR

Candidate Answer: Aquifer
SIAHR

QID : 93 - In which year Pradhan Mantri Jan Dhan Yojana was launched?

TH S 4 o 31 e g af 31 7 e

Options:
1) 2013

2) 2014
3) 2015

4) 2016
Correct Answer: 2014
Candidate Answer: 2015

QID : 94 - Who among the following discovered Radium?

Frafifed & 3 foem Yeam ot @ &t 4
Options:

1) Marie Curie

o R

2) Alber !Einstein

Tese 3TEgers
3) R.A. Millikan

3R. T
4) Pavel Schilling
grde feafefT

Correct Answer: Marie Curie

Candidate Answer: Marie Curie

g

QID : 95 - With which sport is 'wide ball' associated?

9 Oa F Y aTgS ara’ ST 5T 82
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Options:
1) Cricket
fohare

22 Hockey
3) Fgotball

4) Table Tennis
CRHRES]
Correct Answer: Cricket

Candidate Answer: Cricket

QID : 96 - Hindu Pilgrimage centre Sabarimala is located in which state?

fegafl &1 drfera wadmam fra s & Rd 82
Options:
1) Maharashtra

2) Kerala

3) Uttar Pradesh
3R

4) Madhya Pradesh
o UG

Correct Answer: Kerala

Candidate Answer: Kerala

QID : 97 - Who won the Best FIFA Men's player award 2016?

2016 BT YIIF I o et [RIGHR fe shar?
Options:
1) Cristiano Ronaldo

2) Wayne Rooney
CERal
3) Neymar Junior

4) Fernando Torres
Correct Answer: Cristiano Ronaldo

Candidate Answer: Cristiano Ronaldo

QID : 98 - Who is the author of the book named "My Country My Life"?

O St AIS ALH" AHG b B AWD DI 67
Options:

1) Mamata Banerjee

Tl SOl

2) L.K. Advani

Td. &. STSaH!

3) Raghav Bahal

NUEERN]

4) Daman Singh

g Rig

Correct Answer: L.K. Advani
T F

Candidate Answer: L.K. Advani
Td. &. A

QID : 99 - Basel Convention is an international treaty that was designed

T GHIer U SiaIpig i g R fEwis o
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ptions:

1) to reduce movement of hazardous waste (except radioactive wastes) between nations.
I & o GRS Uiy (fsaied Sy i Bls®y) $ 1 HH H F o
2) to reduce movement of radioactive wastes only between nations

el a2l & dfta AT Uil 1 i b1 HH B &

3) to encourage waste disposal

4) None of these
CIEEG]
Correct Answer: to reduce movement of hazardous waste (except radioactive wastes) between nations.

T & o GRS Uiy (fSdie Sy I Bie®y) $ I HH HA F R
Candidate Answer: [ NOT ANSWERED ]

QID : 100 - Which among the following neighbouring countries of India is not landlocked?

fofafed & § YR &1 S 91 TSRl =1 WA § Ry gan et 82
Options:

1) Myanmar

AR

2) Bhutan

Yo

3) Nepal

B

4) Afghanistan
S

Correct Answer: Myanmar
HMHER

Candidate Answer: Myanmar
TR
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